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a) Co:side[ the application SYstem being developed by the development division. with a brief
explanation state the ideas incoEporated into the system to enhance its perforian(.,e.
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c) Wha.t teSt}nolo§ical changes can You identifY from Figure 1? Do you think the trend in the
graph will continue to be the same over the next decade? Justify ;our answer.
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FiWre l: A graph for Question 1.c)

d) What is Power Wall?
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b) Consider the data shown in Table 1 to design an iTterrupt mecIan Ism to handle the n\en
’ scenario and provide proper justiflcation for choosing that mechanism

Table 1: Data for Question 2.b)

Show each step of the execution process. Here higher value denotes a higher prlontY'

c) Which concepts would you consider when designing a general purpose computer? Briefly
explain your design implementation

3. Consider the program shown in Code Snippet 1-

1 =ude<stdio . h>

2 1 int main ( )

31 (
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PriorityArrival, t (s)Duration of execution (s)Programs

Execution of a C program

Keyboard input
Printer
Disk
Update Notice

1
5
3
3
2

0
11
8

15
20

30
6
5
12
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a , Cr dr t r q

[10, 50, 90, 35
int 1, m,

int p [ ] =

i = 10 ;

m = t + q ;

P[1] = m;
a = m + c + d;
if (a == 1) i

a = a + 5 ;

} else {

pE3]

40 } ;

am for Question 3.

5
(C03)
(P02)

in hexadecimal instead of binary in the memorY segInentS'

The variables i, m, a, c, d, t and q in Code Snippet 1 correspond to the registers x9 thlough
115. The base address of the arraY is stored in x23'

i. Convert the c program from line 6 to 16 into corresponding RISC-V lnstructlons

i i : :aT :: : ===1= = i == :r:nc : :::dg:::::lt =s:: : 1 :: 1 ?i : i; nTd= iI:I=c==eh: ==soI= ==:
the operation types of the instructions is not required.

c) RISC_V ISA do,s not h,ve a„,r,xplicit NOT i„str„cti.n. How is this instruction implemented
in RISC_V? Explain with an example
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